
Add	
  or	
  subtract.	
  
425.2	
  –	
  173.45	
  
	
  
	
  
	
  
	
  

7.328	
  –	
  0.76	
  

6	
  –	
  2.574	
  
	
  
	
  
	
  
	
  

489.2	
  +	
  8.03	
  

23.04	
  +12	
  
	
  
	
  
	
  
	
  

22.3+	
  947.72	
  

A	
  diver	
  scores	
  6.892,	
  7.935,	
  6,253,	
  and	
  8.025.	
  What	
  is	
  the	
  diver’s	
  total	
  score?	
  
	
  
	
  
	
  
	
  
	
  
	
  
John’s	
  batting	
  average	
  is	
  0.87.	
  	
  Last	
  year	
  it	
  was	
  0.175.	
  	
  By	
  how	
  much	
  has	
  his	
  average	
  
increased?	
  
	
  
	
  
	
  
	
  
	
  
	
  
Multiply.	
  
0.18	
  x	
  0.06	
  
	
  
	
  
	
  
	
  

44.1	
  x	
  2.76	
  

0.04	
  x	
  1.58	
  
	
  
	
  

12.7	
  x	
  0.092	
  

Place	
  the	
  decimal	
  point	
  in	
  the	
  correct	
  location.	
  
3.9	
  x	
  4.6	
  =	
  1794	
  
	
  

0.219	
  x	
  6.2	
  =	
  13578	
  

14.9	
  x	
  0.092	
  =	
  13708	
  
	
  

5.546	
  x	
  8.14	
  =	
  4514444	
  



Divide.	
   	
  
29.6÷ 8	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

15.57÷ 0.09	
  

16.15÷ 0.38	
  
	
  
	
  
	
  
	
  
	
  
	
  

673.29÷ 5.6	
  

Naomi	
  drove	
  710.24	
  miles	
  on	
  18.4	
  gallons	
  of	
  gas.	
  	
  How	
  many	
  miles	
  per	
  gallon	
  did	
  
her	
  car	
  get?	
  
	
  
	
  
	
  
	
  
	
  
A	
  deli	
  charges	
  $3.45	
  for	
  a	
  pound	
  of	
  turkey.	
  	
  If	
  Tim	
  wants	
  to	
  purchase	
  2.4	
  pounds,	
  
how	
  much	
  will	
  it	
  cost?	
  
	
  
	
  
	
  
	
  
	
  
	
  
One	
  inch	
  is	
  equivalent	
  to	
  2.54	
  centimeters.	
  	
  How	
  many	
  inches	
  are	
  there	
  in	
  50.8	
  
centimeters?	
  
	
  
	
  
	
  
	
  
	
  
The	
  area	
  of	
  a	
  room	
  is	
  28.125	
  square	
  meters.	
  	
  If	
  the	
  length	
  of	
  the	
  room	
  	
  is	
  6.25	
  
meters,	
  how	
  wide	
  is	
  the	
  room?	
  
	
  
	
  
	
  
	
  
	
  



	
  


